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Question Number : 1 Question Id : 36496353131 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A): A child's development progress can be accurately measured by comparing her rate

of development with the other children of some age.

Reason (R): Pattern and the rate of development of children is uniform and remains some for all

children across cultures.

Choose the correct option.

Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false

4. Both (A) and (R) are false

Question Number : 1 Question Id : 36496353131 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 2 Question Id : 36496353132 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A child learns to hop and jump before learning to play football. Which principal of development

does this illustrate?
Options :

1. Cephalocaudal
2. Pronimodistal

3. Reversibility

4. Equilibration

Question Number : 2 Question Id : 36496353132 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 3 Question Id : 36496353133 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements about development is NOT correct?
Options:

1. Development is a product of heredity and environment.

2. Development is somewhat predictable.

3. Rate of development is uniform and universal.

4. Development proceeds from general to specific.

Question Number : 3 Question Id : 36496353133 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 4 Question Id : 36496353134 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A) : Children pick up ways of behaving appropriately as per their culture from their

friends media and various other source.

Reason (R) : socialization is a complex process that takes place through various formal and

informal means.

Choose the correct option.

Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 4 Question Id : 36496353134 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 5 Question Id : 36496353135 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

For children who are in concrete operational stage teachers should -

Options :

1. Gove a lot of practice to deal with abstract concepts

2. Provide opportunities to classify objects and ideas on increasingly complex levels
3. Present problems that require higher order abstract thinking

4. Give problems that require logical and scientific thinking

Question Number : 5 Question Id : 36496353135 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ﬂj-ti RATETSR STIRUT 3 =1 o o707 UaF 13717 -

Options:

| I TSI € TR i 6 o0 G v SheeliT =]

FEGAT AR = 1 e § S F F Hiow Jied] F =)

2

5 Ut FEETY 2 = 1ET S I Htﬁ T U7 TTETTA =T

. UHT T 2T SR ST d%uﬁiaﬁim* T h1 AT Tl

Question Number : 6 Question Id : 36496353136 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

According to Jean Piaget, at which stage of cognitive development does the child understand that

symbols can be used to represent objects - 'bicycle’ will generate an image even when absent?
Options :

1. Pre-conventional stage

2. Pre-operational Stage

3. Concrete operational Stage

4. Formal operational Stage

Question Number : 6 Question Id : 36496353136 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 7 Question Id : 36496353137 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Aanav struggles with addition of three digit numbers on his own but is able to do so with support



from the teacher. In Lev Vygotsky's theory, this highlights -
Options:

1. Zone of proximal development

2. Reinforcement

3. Maturation

4. Symbolism

Question Number : 7 Question Id : 36496353137 Question Type

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

: MCQ Option Shuffling : Yes Is
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Question Number : 8 Question Id : 36496353138 Question Type

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to Lev Vygotsky learning is -
Options :

1. An active process of constructing knowledge
2. A passive process of reception of knowledge

3. A function of drill and practice

: MCQ Option Shuffling : Yes Is



4. A function of stimulus-response associations

Question Number : 8 Question Id : 36496353138 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 9 Question Id : 36496353139 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Aashna does good because she would like to be seen as good by other people . At which stage of

moral development is she according to Lawrence Kohlberg?
Options :

1. Pre-conventional

2. Conventional

3. Post-conventional

4. Formal Operational

Question Number : 9 Question Id : 36496353139 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 10 Question Id : 36496353140 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In progressive education -

Options :

1. learning has a social character.

2. textbooks are the only source of knowledge.
3. seating arrangement is totally fixed.

4. curriculum is standardized.

Question Number : 10 Question Id : 36496353140 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 11 Question Id : 36496353141 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

National Education Policy 2020 emphasises on -

Options :

1. flexible multi-level activity based learning.

2. only the aspects related to cognitive development of children.
3. standardization of a national curriculum.

4. measurement of memorization abilities of children.

Question Number : 11 Question Id : 36496353141 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 12 Question Id : 36496353142 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following description fits the 'Inter-personal intelligence' proposed by Howard

Gardner?

Options :

1. Sensitivity to spoken and written language

2. Sensitivity to rhythm and sounds

3. Capacity to understand the intentions and desires of others

4. Capacity to understand on self

Question Number : 12 Question Id : 36496353142 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 13 Question Id : 36496353143 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
plays an important role in Vygotskian constructivism.
Options :
1. Language
2. Maturation
3. Development of schemas

4. Rewards and Punishment

Question Number : 13 Question Id : 36496353143 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 14 Question Id : 36496353144 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following tools should a teacher use to assess children's learning?

(i) Classroom interaction



(ii) Projects
(iii) Portfolios

(iv) self-assessment
Options :

1. (ii) and (iii)

2. (ii),(iii) and (iv)

3. (i), (ii), (iii) and (iv)
4. (i), (ii) and (iii)

Question Number : 14 Question Id : 36496353144 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 15 Question Id : 36496353145 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

The purpose of assessment as per the National Education Policy 2020 is to provide information on

Options :

1. how to support the students in and out of the classroom.

2. comparison of the students performance with her classmates.

3. the gaps and deficiencies in student learning to accurately identify her failure.

4. memorization capacities of the student.

Question Number : 15 Question Id : 36496353145 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
g TR T 2020 3 STTAR T T 3597 (Faeh! SRR ad1 27

Options:

1 Terameft =t heaT F T HAT o ST HE ETEET & S WA 2

, Tt wmﬁﬁﬂaul%q‘iﬁgwaﬁmﬂr I

; et & drgs O gt 3 a97s 717 39 wwmﬁgﬂﬁﬂﬁmiﬁ;

4 e &t w2 i aoar FF SHEE|

Question Number : 16 Question Id : 36496353146 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following practice is a barrier to inclusion?
Options:

1. Classroom discipline is based on mutual respect for each other.



2. Content is designed to meet needs of few students only.
3. Pedagogy encourages participation of all students.

4. Students are supported to meet individual goals of learning.

Question Number : 16 Question Id : 36496353146 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 17 Question Id : 36496353147 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following creates barrier to inclusion of students from marginalized groups?

Options :

1. Access to Educational spaces
2. Equity in rights

3. Opportunity to participate

4. Social Stigma

Question Number : 17 Question Id : 36496353147 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 18 Question Id : 36496353148 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following learning disability directly affects the ability to write coherently?
Options :

1. Dyscalculia

2. Dysgraphia

3. Dyslexia

4. Dyspraxia

Question Number : 18 Question Id : 36496353148 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 19 Question Id : 36496353149 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following practice will hinder the successful inclusion of 'auditory learners'?
Options:

1. Allow students to think aloud to themselves.

2. Give students written rather than oral tests.

3. Place assignment directions on tape to use later.

4. Provide verbal instructions for assignments.

Question Number : 19 Question Id : 36496353149 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 20 Question Id : 36496353150 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is a characteristic of a student with giftedness?
Options :

1. Slow comprehension

2. Lack of curiosity

3. Need for precision in thinking

4. Tendency of opting for easy tasks

Question Number : 20 Question Id : 36496353150 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 21 Question Id : 36496353151 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

A teacher wants to facilitate comprehension skills among her students. Which of the following

should be avoided by her for this purpose?
Options :

1. Concept mapping

2. Decontextualising

3. Outlining

4. Summarizing

Question Number : 21 Question Id : 36496353151 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 22 Question Id : 36496353152 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

To facilitate students' learning of a concept, a teacher should -
Options :

1. avoid making connections between new information and previous knowledge.



2. focus on understanding the rules and defining attributes of the concept.
3. mix essential and non-essential information related to content to be taught.

4. present material and information in highly abstract and complex form.

Question Number : 22 Question Id : 36496353152 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

eIt & T W o AT B R T % (o0, U TV 6 (e § T S e

Options :

r OO I . my . s W T o T
1. T8 SIHERRT AN S T = = g T 9 99

5 o7 = AU AT S99 S SerSaTeT =5 a7 W ST

; ToSare] ¥ ST SAEva% AR TR-SATEvIe A1l 1 = F:73)

AT 3T STHaFNT il eI 09 3T F1ed ©9 T T5ad F4)
4 = s

Question Number : 23 Question Id : 36496353153 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following factors is not responsible for students' failure in academic performance?
Options :

1. Boredom

2. Stress

3. Curiosity

4. Fear

Question Number : 23 Question Id : 36496353153 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 24 Question Id : 36496353154 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

While teaching a concept, a teacher is giving an example that has the most important "core"

features of the category associated with that concept Such an example is called -
Options :

1. a misconception.

2. a non-exemplar.

3. a prototype.

4. an expectation.

Question Number : 24 Question Id : 36496353154 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 25 Question Id : 36496353155 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

By encouraging students to reflect on their cognitive abilities to reach a specified goal, a teacher is

facilitating the development of:
Options:

1. Declarative knowledge

2. Procedural knowledge

3. Meta-cognition

4. Rote-memorisation

Question Number : 25 Question Id : 36496353155 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 26 Question Id : 36496353156 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

While conceptualising teaching - learning process, National curriculum framework (2005)

emphasizes upon the importance of -
Options :

1. active engagement and interactions.
2. drill and repeated practice.

3. rote-memorisation of content.

4. stimulus-response associations.

Question Number : 26 Question Id : 36496353156 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 27 Question Id : 36496353157 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

To scaffold students in solving a problem, a teacher should -
Options :

1. confuse students by highlighting extraneous information.
2. directly tell the answer to students and ask them to copy it.
3. give cues that activities the relevant schemas.

4. split the information in disconnected chunks.

Question Number : 27 Question Id : 36496353157 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 28 Question Id : 36496353158 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A): During teaching-learning process, a teacher should give opportunities to students

for sharing their misconceptions and alternative conceptions.



Reason ( R): Misconceptions and alternative conceptions are always baseless and are insignificant

in process of learning.

Choose the correct option.

Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 28 Question Id : 36496353158 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 29 Question Id : 36496353159 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Learned helplessness occurs when a student believes that:
Options:

1. ability is improvable and focus is on mastery goals.

2. efforts impact ability and focus is on performance goals.
3. the outcomes of academic activities are controllable.

4. the outcomes of academic activities are uncontrollable.

Question Number : 29 Question Id : 36496353159 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 30 Question Id : 36496353160 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is an example of intrinsic motivation?
Options :

1. Studying to avoid the punishment by parent

2. Studying due to interest in an activity



3. Studying to receive the praise of teacher

4. Studying to win a competition

Question Number : 30 Question Id : 36496353160 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ffafEs & T -3 2ATF 1 IO 7 S50 27

Options :

| TTET-TUAT 5T 3T | FE % o7 oTemmm

, T TG & B 3 ShT0T ST

3 STSTeF, =6 T9TET TTH 3F0H o To70 2759

£ i U i
4 9 ﬁﬁ 9T ST o0 ST

Mathematics
Section Id : 3649631692
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30
Section Marks : 30

Enable Mark as Answered Mark for Review and
Yes
Clear Response:

Sub-Section Number : 1



Sub-Section Id : 3649633072
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Question Number : 31 Question Id : 36496353161 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Raghav has only %5 and Z10 coins with him. If total number of coins he has is 30 and the amount of money with him is
2195, then the number of 25 and Z10 coins with him are:

Options :

1. 25 and 5. respectively
5 21 and 9 respectively
3. 20 and 10, respectively

4. 15 and 1S respectively

Question Number : 31 Question Id : 36496353161 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1 25375

, 2139

3 20 X 10

4 15315



Question Number : 32 Question Id : 36496353162 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Naresh is a visually challenged student of his class. He identifies and count edges, corners and faces of various three
dimensional (3D) shapes by touching them. How many edges, corners and faces will he identify in a triangular prism?

Options:
1 Edges = 6. Corners = 8, Faces= 6

2 Edges =9, Corners = 6, Faces= 3
3 Edges =4, Corners = 4, Faces=4

4. Edges = 6, Corners = 4, Faces= 5

Question Number : 32 Question Id : 36496353162 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

=6, 7" =8, FAF =6

1.



Question Number : 33 Question Id : 36496353163 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is the area of a rectangle whose length is 122cm and breadth 55cm?

Options :
1. 354 5q. cm
2. 6710 s5q. cm

3. 6715 s5q. cm

4. 6810 5q. cm

Question Number : 33 Question Id : 36496353163 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
I I F1 % 47 2, Torehl 918 122 cm 3R =R 55 cm 22

Options :

1. 3543 cm
5 67103 cm
3 67153 cm

4. 6810 T cm



Question Number : 34 Question Id : 36496353164 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Rehnuma makes different polygons using matchsticks and measure their interior angles with the help of a protractor.
She makes a triangle with three matchsticks and adds one more to make a quadrilateral. Then she adds one more
matchstick fo make a pentagon and so on. Which of the following statements s correct about the angles of these shapes?

Options :

1. The sum of all the interior angles of any polygon is 360°.
5 The sum of all the interior angles of a quadrilateral is three times of the sum of all the interior angles of triangle.
3. When the numbers of side increases, the sum of the measures of interior angles of a polygon also increases.

4. When the numbers of sides increases sum of the measures of interior angles of a polygon also decreases.

Question Number : 34 Question Id : 36496353164 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 35 Question Id : 36496353165 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

[ am greater than half of 100. I am more than 5 tens and less than 6 tens. My ones digit is three less then tens’ digit. Who
am1?

Options :
1

N

1.

N
N
I

w
Ln
[#a]

>
L]
o

Question Number : 35 Question Id : 36496353165 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 36 Question Id : 36496353166 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What distance will Sadiq travel if he takes five rounds of a rectangular park whose length and breadth are 60 metres and
40 metres, respectively?

Options:
1. 200 m
2. Lkm

3. 2km 400 m

4. 2km200m

Question Number : 36 Question Id : 36496353166 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

e T TR 0T, [ M|£60Wﬁﬁ€_l§40ﬁm%ﬁﬁﬁﬂﬂmwnﬁf&mﬂEjrﬁ'qqn“w?
Options:

1. 200 m.

> 1 km.

3. 2 km. 400 m.

4. 2 km. 200 m.



Question Number : 37 Question Id : 36496353167 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Rani’s school is at a distance of 6km 375m from her house. She travels 1km 95m on foot and the rest by bus. How much
distance does she travel by bus?

Options :
1. Skm 625m
2. Skm 280m

3. 4km 625m

4. 4km 425m

Question Number : 37 Question Id : 36496353167 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

1. 5 km. 625 m.
2 5 km. 280 m.
3. 4 km. 625 m.

4. 4km. 425 m.

Question Number : 38 Question Id : 36496353168 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

If the side of a square is halved, the perimeter of the square so obtained will be  and the areawillbe
Options :
1. halved, halved

2. halved. one-fourth
3. one-fourth, halved

4. one-fourth, one-fourth

Question Number : 38 Question Id : 36496353168 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

| T, AT
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, TE-ETE, ST
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Question Number : 39 Question Id : 36496353169 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



" 1 ; " : :
A truck travels 120km in 2 - hours. How much time is required to cover 80km with same speed?
2

Options :

1. 1 hour 20 minutes
2. 1 hour 30 minutes
3. 1 hour 40 minutes

4. 1 hour 50 minutes

Question Number : 39 Question Id : 36496353169 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:

1 172120 e
5 172130 e

3 1 52T 40 o2

4. 1 72T 50 e

Question Number : 40 Question Id : 36496353170 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

One fifth of the flowers in a bouquet are roses. Half of the flowers are lily and the remaining are orchid. If the numbers
of roses is eight; how many orchids are there in the bouquet?



Options :
1. 10

Question Number : 40 Question Id : 36496353170 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:
1. 10

Question Number : 41 Question Id : 36496353171 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Observe the above pattern and identify the next term:-

237 10,3257,
Options :
1. 76

Question Number : 41 Question Id

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
3 =2+12
7 =3+22
16 =7+ 3
FTAT UG UE=ITT0;
230 16: 32, 57

Options :
7. 76

2. 85

: 36496353171 Question Type : MCQ Option Shuffling : Yes



Question Number : 42 Question Id : 36496353172 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Bhanu is a junk seller (Kabadiwala) who collect junk as per the rate List given below:

Junk Price of 1kg
Waste Paper 212
Newspaper 4
Iron 327350
Brass 3225
Plastic 338

How much money will he pay if he collects 5 kg of iron, 10kg of plastic, 50kg of waste paper, 22kg of newspaper, and
2kg of brass?

Options :
1. T 1645.00

2. ¥ 1825.00

4. % 1875.50

Question Number : 42 Question Id : 36496353172 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1. 21645.00

5 ¥1825.00
3. 2345.00

4. X1875.50

Question Number : 43 Question Id : 36496353173 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following group of number has least prime numbers?
Options :
1. From 20 to 40

2. From 30 to 50

3. From 40 to 60



4, From 60 to 80

Question Number : 43 Question Id : 36496353173 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
e=fetEd 5 & e wEameti = HHH\E"& HIH T ITHST HEI 8

Options :

1 20940 TF
5, 30|50 TF
3 40 F 60 TF

4 60T 80T

Question Number : 44 Question Id : 36496353174 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

9.2x4.9%3.1

Which one of the following is the best approximation of = DeRTas

Options:
OX4xX3
1. G2

G b 3
I .

S b 3
3. B3



9x4x3
4 Hx3

Question Number : 44 Question Id : 36496353174 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

.. 9:2X4.9x3.1 R - .
FfafEa g ® T TEE AT HTh0T FI-9T 29
5.06x2.84

Options :
9X4X3
1. X2

9X5X3
-

9X5X3
3. bB¥X3

9X4X3
4 HX3

Question Number : 45 Question Id : 36496353175 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Match the following:

(A) (B)

Digit at tens place is half of the 652842
digit at thousands place.
Digit at ones place is two third of 858335
the digit at the lakhs place.
Digit at hundreds place is double 658324
of the digit at tens place.
Digit at thousands place is the 852312
sum of the digit at ones and tens
place.

Options :

1 (1) - (d). (11) - (¢). (1i1) - (a). (iv) - (b)

3 (1) - (b), (i1) - (c). (1ii) - (a), (Iv) - (d)

3 (1) - (d), (i) - (@), (iii) - (¢), (iv) - (b)

4. (1) - (c), (11) - (b), (1i1) - (d), (iv) - (a)

Question Number : 45 Question Id : 36496353175 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

e s e T
@ @
i, TETE T O TR ¥ 3 B TR a) 652842
ii. TS T AF GG F AF F AT E b) 858335
iii. TS T e TS o LTS ¢) 658324

lv. ESRE AHTHEE ARTEEF AR FATE  d) 852312
Options :
1 (D-(d), (iD)-(c), (iii)-(a), (iv)-(b)

5. (D)-(b), (ii)-(c), (iii)-(a), (iv)-(d)



5. (D-(d), (ii)-(a), (iii)-(e), (iv)-(b)

Question Number : 46 Question Id : 36496353176 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following activities is best suited for the development of spatial understanding among primary grade
learners?

Options:

1. Representing numbers on a number line
o Drawing a map of their homes showing relative sizes and positions of rooms
3 Measuring the distance between two cities on a map

4 Recalling the names of geometrical figures

Question Number : 46 Question Id : 36496353176 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
et Tt B & A8 T4 Toe T 3 SHeAeaten] 1 e SIR WaiTem 7 o 19T o (o0 e

T !

Options :

| T T W ST e

, ﬁﬁ%mﬁ%aﬁamaﬁtmﬁﬁﬁwﬁ@w%%@im T



L=

, UeF =S UT 2 STELl o a1 =t &4 SRl g1

[ | e ' '
MALLEIE HATHICET & THT 3l G 0T AT

Question Number : 47 Question Id : 36496353177 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

As per NCERT, which of the following is NOT one of the expected learning outcomes from grade I1I learners?

Options :

1. What is the place value of 4 in 5437

o Identify the next shape in a given pattern of shapes.

+

= | =

Solve

w | =

4. Show that 2 x 5 is the same as 5 * 2.

Question Number : 47 Question Id : 36496353177 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 48 Question Id : 36496353178 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A mathematics teacher asks her students "You have 7 hundreds and you have to take away 7 tens from it. Which number
do you get?" One of the students says "T will get 0". Which of the following statements is most appropriate with respect
fo the answer given by the student?

Options :

1. The teacher should have written the problem in the form of numerals for students to solve it.
5 The teacher should give at least ten similar problems to solve till the students solve it correctly.

The teacher should ask the students to explain the process of arriving at the answer and plan remedial strategy
3, accordingly.

4. The teacher should solve the problem on black board using the correct algorithm

Question Number : 48 Question Id : 36496353178 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 49 Question Id : 36496353179 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to National Curriculum Framewaork 2003, one of the main goals of mathematics education in schools is, "It is
more useful to know how to mathematize than to know a lot of mathematics". Which of the following reflects the
meaning of above statement

Options :

It is more important to know how to develop mathematical thinking and ability to handle abstractions in children than to
1. focus on how much mathematics a child knows

Mathematics education should focus on including only those topics in mathematics curriculum which are useful in daily
2. life.

3. Mathematics is useful in daily life hence solving problems in mathematics will mathematize the child's mind

It is important to know how to solve various problems in mathematics hence focus should be on including maximum
4. topics in mathematics curriculum

Question Number : 49 Question Id : 36496353179 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 50 Question Id : 36496353180 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

M. Govind wants to build 'pattern recognition' skill in his Grade 3 students. Which of the following activities can BEST
help?

Options :

1. Asking students to make their family tree and compare it to that of their friend’s family tree.
5 Asking students to observe the night sky and describe what they saw, in class the next day.
3, Asking students to find the national emblem of India in all their textbooks.

4. Giving building blocks and asking students to arrange them in stacks of increasing height.



Question Number : 50 Question Id : 36496353180 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 51 Question Id : 36496353181 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to National Curriculum Framework 2005, assessment in mathematics should include
Options:

1. Ranking the students with respect to their scores

5 Progress of the students in terms of conceptual understanding and acquisition of problem solving skills

3. Testing the knowledge of procedures and formulae

4. Testing the ability of students to do error free calculations

Question Number : 51 Question Id : 36496353181 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 52 Question Id : 36496353182 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ms. Priya taught the concept of division. Which of the following is the best example of an 'authentic task' to assess
students on this?

Options :

1. What will you get when you divide 65 by 13?7
> What does division of one number by another mean? Explain using examples.
3. Distribute 100 available drawing sheets among 25 students of your class equally.

4. Make a flag for your class where one-third of the flag is blue

Question Number : 52 Question Id : 36496353182 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 53 Question Id : 36496353183 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In middle and high school it is observed that boys perform better than girls in mathematics. Critical analysis of this
situation points out that the reason for this is that;

Options:

1. Girls have poor logico-mathematical skills

- Mathematics is not for girls

3. Girls are socialised to believe that mathematics is considered to be a ‘masculine domain' and hence it is difficult

4 Boys are naturally inclined to like numbers and mathematics

Question Number : 53 Question Id : 36496353183 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 54 Question Id : 36496353184 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following preparatory activities is most suitable, before teaching the concept of multiplication?
Options:

1. Introduce the symbol of multiplication first

5 Asking students to find the number of balloons their class will have if each of them brings 5 balloons.

3 Asking students to count the number of students in their school.

4. Asking students to solve, "If you get 210 as pocket money each day, in how many days will you get 21007"

Question Number : 54 Question Id : 36496353184 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 55 Question Id : 36496353185 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to National Curriculum Framework 2005, Which of the following represents one of the most desirable
feature of a mathematics text book at primary level?

Options :
1. Concepts must be presented from abstract to concrete
o The cover page of the text book should be attractive and colourful

3. It should include mathematical problems based on formulae and algorithms

4. 1t should present the mathematical problems that are contextual and related to life experiences of children.

Question Number : 55 Question Id : 36496353185 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 56 Question Id : 36496353186 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Identify the correct sequence of geometrical thinking levels as per Van Hieles' 'theory of geometrical development
Options :

1. Visualisation--Analysis--Deduction--Relationships

> Relationships--Deduction--Analysis-Visualisation

3. Visualisation--Analysis--Relationships-Deduction

4. Analysis--Relationships--Deduction--Visualisation

Question Number : 56 Question Id : 36496353186 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 57 Question Id : 36496353187 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher asked the class to subtract 3 from 75. 70% of the class said: 25. Their work was shown as:

75
=5

2 9

Which of the following describes the most appropriate remedial action that the teacher should take to clarify this
misconception?

Options :
1. Revise the concept of place value and asking students to explain the process they have used to solve the problem
5 Revise the rule of subtraction of 1-digit umbers from 2-digit numbers that digits should be written from right to left.

3. Give more practice on simpler problems like subtracting 1-digit numbers.

4 Use a number line to explain how subtraction is done

Question Number : 57 Question Id : 36496353187 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 58 Question Id : 36496353188 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Majority of students in a class says. 270 + 34 is equal to 270
+34

2104

Revisiting which of the following concepts will BEST remediate the misconception?

Options :
1. Addition with regrouping



5 3-digit addition
3 Forward counting

4. Place value of three digit numbers

Question Number : 58 Question Id : 36496353188 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 59 Question Id : 36496353189 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Aclass V primary school teacher gives the following task to his students: "From your neighbourhood collect the number
of students studying in class IIT and V. From the information collected, classify number of boys and girls studying in
class Il and V. Include at least ten households in your project”. The above activity can be best use:

Options :



To make students sensitive towards gender differences
To introduce the concept of data handling
To develop values of community service in school students

To assess teacher's creativity for the purpose of his promotion

Question Number : 59 Question Id : 36496353189 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 60 Question Id : 36496353190 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following can be BEST taught using a simulation software?



Options :

1 Finding place value and face value of various numbers
5 Measuring the lengths of rectangles with various dimensions
3. Comparing the weights of different objects

4. Showing how the tenth shape in a series will change when the third shape changes.

Question Number : 60 Question Id : 36496353190 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Environmental Studies

Section Id : 3649631693
Section Number : 3

Section type : Online



Mandatory or Optional : Mandatory

Number of Questions : 30

Number of Questions to be attempted : 30

Section Marks : 30

Enable Mark as Answered Mark for Review and

Clear Response: ves
Sub-Section Number : 1
Sub-Section Id : 3649633073
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 36496353191 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The most liked food of the people of which of the following two states of our country is “Idli, Vada,

Dosa, Sambhar, Coconut chutney”?
Options:

1. Telangana, Gujarat

2. Odisha, Andhra Pradesh

3. Tamil Nadu, Andhra Pradesh

4. Goa, Kerala

Question Number : 61 Question Id : 36496353191 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 62 Question Id : 36496353192 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

If a person travels by shortest route from Mumbai (Maharashtra) to Chandigarh (A union territory

of India) by train, the state which the train is not likely to come is
Options :

1. Haryana

2. Punjab

3. Rajasthan

4. Gujarat

Question Number : 62 Question Id : 36496353192 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 63 Question Id : 36496353193 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following statement given by a girl in a group of students who gathered in a camp:

“T have come from a city which is a hilly area. At our place it rains heavily and snows as well. When

it is very cold we like to sit in sun. Our houses are made of stone or wood.”

This city must be a part of
Options :

1.Jammu and Kashmir

2. Ladakh

3. Utter Pradesh

4. Himachal Pradesh

Question Number : 63 Question Id : 36496353193 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 64 Question Id : 36496353194 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The distance between New Delhi railway station and Kanpur railway station is 432 km. A train
starting on 18.12.2021 at 23.45 Hrs from New Delhi railway station reaches New Delhi railway

station on 19.12.2021 at 07.45 Hrs. The average speed of the train during journey is
Options :
1.10 m/s
2.15m/s
3.27 m/s

4,54 m/s

Question Number : 64 Question Id : 36496353194 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1. 10 m/s
2 15 m/s

3. 27 m/s

4. 3 m/s



Question Number : 65 Question Id : 36496353195 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Select from the following a group of two animals where front teeth keep growing throughout their

life, so they have to keep gnauring on things to keep their teeth from becoming too long.
Options :

1. Lizard and squirrel

2. Lizard and turtle

3. Rat and squirrel

4. Snake and squirrel

Question Number : 65 Question Id : 36496353195 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 66 Question Id : 36496353196 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Kannauj is a district which is famous throughout India for its itra. This district is a part of



Options :

1. Haryana

2. Uttrakhand
3. Bihar

4. Uttar Pradesh

Question Number : 66 Question Id : 36496353196 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 67 Question Id : 36496353197 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Sand dunes are found in

Options:

1. Afghanistan, England

2. Uzbekistan, Bangladesh

3. Berlin, Rajasthan

4. Abu Dhabi, Afghanistan



Question Number : 67 Question Id : 36496353197 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 68 Question Id : 36496353198 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Bhopal is due north of Bangalore and Gandhi Nagar is due west of Bhopal. The direction of

Bangalore with respect to Gandhi Nagar is
Options :

1. North-West

2. South-West

3. South-East

4. North-East

Question Number : 68 Question Id : 36496353198 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T, T 5 319 T 2 e T 7 0T 35 1 W14 3 2 e 7 o ey e 1 o 2 —



Options :
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Question Number : 69 Question Id : 36496353199 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Select correct statement from the following about Bronze.
Options:

1. It is an alloy of tin and zinc.

2.1t is a compound.

3.Itis an alloy of Copper and tin.

4. It is a homogenous mixture of Copper and zinc.

Question Number : 69 Question Id : 36496353199 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 70 Question Id : 36496353200 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Select from the following a match which does not provide the correct way of preservation of the

corresponding food item.
Options :

1. Apple - Jam

2. Milk - Paneer

3. Raw Mango - Pickle

4. Dal - Papad

Question Number : 70 Question Id : 36496353200 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 71 Question Id : 36496353201 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In which part of our country the big cone shaped tents used for living are known as ‘Rebo’ and the

place in which animals are kept are called ‘Lekha™?
Options :

1. Arunachal Pradesh

2. Meghalaya

3. Jammu and Kashmir

4. Leh and Ladakh

Question Number : 71 Question Id : 36496353201 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 72 Question Id : 36496353202 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



In our country there are
Options:

1. 6 union territories
2.7 union territories

3. 8 union territories

4.9 union territories

Question Number : 72 Question Id : 36496353202 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1. 0

Question Number : 73 Question Id : 36496353203 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Select from the following a group of three states all having their coasts on the Arabian Sea.
Options:

1. Kerala, Karnataka, Maharshtra

2. Gujarat, Maharshtra, Tamil Nadu

3. Andhra Pradesh, Gujarat, Telangana

4. Kerala, Karnataka, Odisha



Question Number : 73 Question Id : 36496353203 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 74 Question Id : 36496353204 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

“Chhau” is the folk dance form of the common people of
Options :

1. Uttar Pradesh

2. Assam

3. Chhattisgarh

4. Mizoram

Question Number : 74 Question Id : 36496353204 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 75 Question Id : 36496353205 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following statements about the earthworms:

A. Earthworm make tunnels in the fields which provide easy passage to air and water into the soil.
B. Earthworms soften the soil by digging underneath.

C. Earthworms save the main crops from weeds.

D. The droppings of the earthworms fertilise the soil.

The true statements are
Options :

1.Aand B

2.A,Band C

3.A,Cand D

4. A,Band D

Question Number : 75 Question Id : 36496353205 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 76 Question Id : 36496353206 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The advantages of teaching EVS in blended/hybrid learning mode are
A. Students can join online class from anywhere.

B. Students get to interact with teacher and peers face to face.

C. Students are not required to be attentive during the classes.

D. Students are able to supplement their online learning with related activities at

home/community.



Choose the correct option.
Options:

1.A,Band C

2.A,Cand D

3.A,BandD

4.A,B,CandD

Question Number : 76 Question Id : 36496353206 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 77 Question Id : 36496353207 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is a feature of synchronous online teaching of EVS through video



conferencing apps?

Options:

1. Students are able to join the class any time.

2. Teachers and students are able to converse in real time.
3. Students get the content of online class anytime they join.

4. Teacher is able to share content any time of the day which student can access any time.

Question Number : 77 Question Id : 36496353207 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 78 Question Id : 36496353208 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Swati, an EVS teacher of class IV shows a video of a wide variety of plants such as grass, bamboo,
rose, banana, palm tree and discusses about sizes of the plants with leaves, stem and flowers in all
the plants with her students. Most appropriate objective in this activity is to draw attention of

students to

Options :



1. parts of plants.
2. differentiate between ‘plants’ and ‘trees’.
3. observe variation present within the category of plants.

4. the importance of plants to human beings.

Question Number : 78 Question Id : 36496353208 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 79 Question Id : 36496353209 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

While teaching theme ‘Food’, Rita, an EVS teacher, asks her class V students to conduct survey
about different ways in which food preservation methods are followed in different neighbouring

households. The most appropriate objectives of this survey will be

A. to make students sensitive towards different people.



B. to assess students' competence in conducting survey.
C. to provide an opportunity to collect first hand information from community.
D. to provide an opportunity to interact with community.

Choose the correct option.
Options :

1.A,Band C

2.A,Cand D

3.AandB

4. Aand C

Question Number : 79 Question Id : 36496353209 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 80 Question Id : 36496353210 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of these are objectives of teaching EVS at primary stage according to the present

curriculum?

A. To train students to locate and comprehend relationships between the natural social and

cultural environments.

B. To develop an awareness about environmental issues in students.

C. To develop an understanding of the earth as the habitat for humankind and other forms of life.

D. To understand the various pedagogy of EVS.

Choose the correct option.
Options:

1. Aonly

2.Aand B

3.A,Cand D

4.B,Cand D

Question Number : 80 Question Id : 36496353210 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 81 Question Id : 36496353211 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

An EVS teacher should keep in mind the following criteria to make groups for conducting an
activity -

Options :

1. Make grouping according to their cognitive level

2. Make grouping according to gender (separate group for girls and boys)

3. Make as many groups as possible from the whole class

4. Make groups based on cooperation and participation among groups

Question Number : 81 Question Id : 36496353211 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 82 Question Id : 36496353212 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The nature of EVS curriculum at the primary level is

Options :

1. inclusive, contextual, thematic

2. integrated and experiential

3. contextual, disciplinary, follows an environmental approach

4. single subject, global to local, inclusive

Question Number : 82 Question Id : 36496353212 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 83 Question Id : 36496353213 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

While choosing stories to introduce EVS concepts, a teacher needs to keep the following points in

mind.
A. Stories should not create any misconception about any concept.

B. Stories should not portray any stereotype related to gender, caste, religion and other social

groups.
C. Stories should be enjoyable and entertaining.
D. Stories should be such that students can relate to them.

Choose the correct option.
Options:

1.A,B,C

2.B,C,D

3.A,Band D

4.A,Cand D

Question Number : 83 Question Id : 36496353213 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 84 Question Id : 36496353214 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

An EVS teacher will ask her students to do which of the following activities to inculcate mapping

skills in them?

A. Locating cardinal directions on a map
B. Drawing unscaled maps

C. Using symbols for self-drawn maps

D. Using standardized universal symbols to interpret a map



Choose the correct option.
Options :

1.Aand D

2.Band C

3. D only

4.A,B,CandD

Question Number : 84 Question Id : 36496353214 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 85 Question Id : 36496353215 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



An EVS teacher points out during a discussion that people of Rajasthan villages built their homes
from locally available materials while people in cities like Mumbai buy materials like cement,
bricks, glass and tiles to build houses. The learning outcome (s) for assessment of this discussion
is/are

Options :

1. Observation and recording

2. Analysis

3. Experimentation

4. Comparing and Analysis

Question Number : 85 Question Id : 36496353215 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 86 Question Id : 36496353216 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

An EVS teacher wants her students to find out the various everyday activities of people that



contribute to the wastage of water. Which of the following is the most appropriate srategy for this
purpose?

Options :

1. Documentary and films related to water issues

2. Visit to a “nallah (water drain)

3. Interaction with families in the neighbourhood

4, Estimation of the quantity of water used by a family per day

Question Number : 86 Question Id : 36496353216 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 87 Question Id : 36496353217 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is an integral component of environmental education at the primary level?
Options:

1. Textbooks



2. Children's environment
3. Linguistic proficiency

4. Role play

Question Number : 87 Question Id : 36496353217 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 88 Question Id : 36496353218 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

As an EVS teacher, which criteria will you consider to be most important in selecting a textbook for

students of primary classes?
A. The textbook should not have any stereotypes related to gender, caste, class and religion.
B. The language in the textbook should be a standard language.

C. The textbook should be cheaply priced and thin.



D. The textbook should be illustrated and visually appealing.

Choose the correct option.
Options :
1.Aand D
2.Band C
3.Aand C

4.Band D

Question Number : 88 Question Id : 36496353218 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 89 Question Id : 36496353219 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following resources will be most appropriate to teach gender stereotypes to students

of class V?

Options :

1. Survey in households to find out wok allocation among members
2. Newspapers with stories on gender empowerment

3. Stories about successful women

4. Field trips to hospitals to find out number of female health professionals

Question Number : 89 Question Id : 36496353219 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 90 Question Id : 36496353220 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

As an EVS teacher, you have to give details of your students' level and proficiency in process skills

in his report card. Which reporting method will be most appropriate?
Options :
1. Narrative report

2. Grades in letters



3. Rating scales

4. Grading in numbers

Question Number : 90 Question Id : 36496353220 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Section Number : 4
Section type : Online
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Number of Questions : 17
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Enable Mark as Answered Mark for Review and
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Clear Response:

Sub-Section Number : 1



Sub-Section Id : 3649633074

Question Shuffling Allowed : Yes

Question Id : 36496353221 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension
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Sub questions

Question Number : 91 Question Id : 36496353222 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 92 Question Id : 36496353223 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 93 Question Id : 36496353224 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

“TYATOY AT AFCTAT SATTh o FAd (HaT 3l TSGR Tqet BaT 2|7 T 347 A1eqd 27
1. S ZIT 4 THETT 0 SUeATod 74T WHerT T8 2T 2|

. ST T o T TR AT W SO ed 9T ST T B 2

3. ST g T3 7O T T WeraT I1 See TTH T2 2 2

4, cqf;j-a R EIES! ?%3[ xrtl:i ED mwg «suﬂﬁﬁﬂ HEAG! AT W?ﬁ%!

-

Options:
1.1

2.2



3.3
4.4

Question Number : 94 Question Id : 36496353225 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 95 Question Id : 36496353226 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 96 Question Id : 36496353227 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 97 Question Id : 36496353228 Question Type : MCQ Option Shuffling : No
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Correct Marks : 1 Wrong Marks : 0
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Correct Marks : 1 Wrong Marks : 0
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Question Id : 36496353221 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension
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Question Number : 91 Question Id : 36496353222 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 92 Question Id : 36496353223 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 93 Question Id : 36496353224 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Correct Marks : 1 Wrong Marks : 0
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Question Number : 96 Question Id : 36496353227 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 97 Question Id : 36496353228 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 98 Question Id : 36496353229 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 99 Question Id : 36496353230 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Shuffling Allowed : Yes

Question Id : 36496353231 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
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Sub questions

Question Number : 100 Question Id : 36496353232 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Correct Marks : 1 Wrong Marks : 0
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Correct Marks : 1 Wrong Marks : 0



At ue Torm fRafa it str g FaT 20
. S BT AT o1, FE T H AT
3. ST T EET =R, A g

Options :

I-J

1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 36496353235 Question Type : MCQ Option Shuffling : No
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Correct Marks : 1 Wrong Marks : 0
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: Yes Group Comprehension Questions : No
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Correct Marks : 1 Wrong Marks : 0
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AR
B Hﬁﬁﬁﬂﬁﬁﬁ[?ﬂﬁw-ﬂﬁ%ﬁﬁw%ﬁvm ik
), TR T o e ST W o
3, R G I 1 T 4 T
4. TR TSI 1 1% 0 1 & T

Options :

1.1
2.2
3.3

4.4

Question Number : 113 Question Id : 36496353245 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A TeATE 4T 3 & 73-T ST 21 el & 7o rad-aait  ToTefuy & ey 3 e i 7
| T TIZ9- RT3 361 T SATeHauT FTeuT 3 FoAT ot T e
2. T feere rag-ATeelt STEe, 4 74T 7t 3 feam aie 2
3. TTefeae W399 FATEIATEeR e 1 s e ¢

Options:

1.1

2.2



3.3
4.4

Question Number : 113 Question Id : 36496353245 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TR el 3 FIH-1 HIST 361 el & AT I3-H1u 3 [T % Ha 5 90 78] &7
|, e feaes Urag el 21 S s fare 3 fore fopa e e

. WTTefeares Y29 R TTET, TG 79T 9 % 0 a8

3, W EeRsiEp] AT, e 3 9T ) 2

| S ]

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 36496353246 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T TR 3 U 7 W 2 ol 1 % AT T U e % 96 W] o 00 T S 0
T 3 U 81 T 0 R A A
|, e o e 0
), U A
3, TR A TR
4, T AR T
Options :
1.1
2.2
3.3
4.4



Question Number : 114 Question Id : 36496353246 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T RTINS 3 T 7 T 2 T 1 7 ST 1 S0t 9 9 -7 71 01 {0
T 5 U3 98 o 0 9 T 9 2
|, T o 7 0
VT W S
3. S § 03
4. TR A T

-}

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 36496353247 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
e 7 % T 2 o e 8 T 6 A B e o e w7
|. i 1oz WEm
3, 3 e I
4, T3 I WX
Options :

]

1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 36496353247 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

T T T Y VR 2 (] e 9 AN A e T 2 9 R e o e R A e )
1. T 8 HER
3, AW I I
4, T T W

Options :

[

1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 36496353248 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
. TST T T o T A E
). TR T EE F S T T e
3. ST =TT T HereaATAl 6l R T 3 (oA, TS 31 1T %2 ©
4. TI9T O ITF I o Uiaaes (Faifem) & o rem = v=m o 2

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 36496353248 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



1. 9T9T T 999 5 T 3 2

0. T A & U e s T e

3. ST =TT T HereaATAl 6l Tohe FE o (oA, TS 3T 1T 2 ©
4. TI9T W S I o Weaes (Frartdm) o o amer = v=m e ©

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 36496353249 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

P19 TG ST RTETTT 2 G R o oA e 3 1 Wt S § T o 7T e e
|. 391G 3URH

3, WSO U

| ]

4, FIY-FTF T
Options:
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 36496353249 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



3-8 G T TS 7 G TG o T, g 3 T & et o STt e e 7
|, 3916 R

3T ST

3, WSO UM

]

4. HT9T-faes saH
Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 36496353250 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
WWW@TWMW#FW?WMW%@HM 4 T 1 A 47 2 7T 72 J0T

%ﬁw%&www%%amwwmm?\wmaﬁwﬁ@mwwmmmﬁv
a‘f’ﬁwmﬁ%l ST WG, e 1 77 17391 FEe 2.

|, Fwm
). TN TR
3. YR Im
4, TSR T
Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 36496353250 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



ST T e T4 T T 1 1 e ST (et T T o 1 e < 47 2 e
%ﬁwfwww?aﬁ%&mwwmm?\wmaﬁwﬁ@mwwmmmﬁv
T L T 2| P G T 1 7 T e -

|,
). FHE W
3. T I
4, TSI
Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 36496353251 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

feAfefEd 9 | FiH-97 9797 9@ o form ey smafa w22
1. Forsmeff i o o & e wgA 2
. Torameff e T F g T I T Mﬂdlmmi%%?m%@%%
3. Terereff eraTg aftEa o 9 W e fRaTE (T 3 S i ©
4. Foreeft ot & At o foremdt o wee o fow ma we B

Options :

| )

1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 36496353251 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TfAfgs o & FF-9T 9197 €@ o 90 a7 ST F7d 27
1. Terereff ot o we 5 T ueaT
. Toremeff e FedeRm T etheg & S el ﬂﬂﬂlf&cﬁi%%ﬁﬁa‘lﬁ%@%%
3. Teremeft SevaTg UiET % 05 W e (ETE (T A A ©
4. Toreeft ti:ﬂﬁiEéd!d?%{aﬂl‘]ﬁ%ﬂ#fa;%ﬁﬂi{ﬁﬂ uc\w%%

-3

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 36496353252 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

fferigs & o -9 s ferem i Seheaa 38t 2
1. SATRI &gqid%

ST Th! TT =aTE

3. YT WTST T 254y

s grufs

[

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 36496353252 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



frferfaa & & F=-at v forer 7 ST T8 20

|. TR0 343ﬁi&' faer

2. e T T e

3. T 9TNT T B4

4 eI
Options :
1.1
2.2
3.3
4.4

Language II

Section Id : 3649631695
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 17
Number of Questions to be attempted : 17
Section Marks : 30
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 3649633077
Question Shuffling Allowed : Yes

Question Id : 36496353253 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (121 to 128)

Question Label : Comprehension



T -

AT ST STTA AT Tegeq= 1 : Fars=afe 7=
oo T: 9 | Wﬁnﬂnﬁdmam Wﬂﬁé‘%ﬁ?@ﬁﬁﬁﬁﬁﬁ
“TEEll  FEECAIST T FATEN  AEEnRANG:| e
JEEERGN:  Towd:, TeAwsEyd 69T ad: THesST
ArTeama e | HaEdr egioRIEes I T
FAFAETET T e T, - C¥El gd Wahe:
TS RN TEa, 2 e TETa Y Taa] Fd e Thd 6t | Ihe

feremmT =T T |
T U R ae e Feread ||

TEERTE Tegra—ia: N8 — “3Tel WeArsied wear, FAmy
e Tae, T AT |

T TTAEHE AEASEAIST GO e He
TE T aeid | 6 I | S0 S|

3T TCHHTERUE 1= (ol el T T, - “37al! 7 g
afere At | 79: & arg-amny 9wt gtamtes  Eee:
5 g | AT S S e aa=2r At gegHerste v |

TEE T AR HAGHT = TN qeheiea” | 379 T8
2/ Fea SARTA AT Tegea=aty el 98 URee | o7
THIG AT T S eSS ST HTeN = T |8 aq o<l
Toreieemar g |

Sub questions

Question Number : 121 Question Id : 36496353254 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



r
R EINGIERIGE

3
4. FERTAST:

Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 36496353255 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

i, " ™. . . 3 ™ o« ™
TG T AT SRR T JIdHE A EE:JHH_\?

i urgm-—wﬁm
2. eI
. ST
4. ﬂm""%@q

Options :

LS ]

1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 36496353256 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



o B S
|. HeFSITEA: denlerHd "'Ir‘kﬁl'ig—%_%i“}‘-ﬂ"u
T WA Heea ATeqs U=eA |
3. F YT HATTH [3"!:?&-!“[
4. & TS Hr‘tﬂlj‘ﬂ'%%*—!\a?@i!

I3

Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 36496353257 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
ElEEECE Ba: =t et 0
|. ST, TEfaey |
2. TR, TR |

[ [
3. FATTIISETAT. Hr*‘;l:‘r‘-lﬁHLd.%Il

4. FANTATETET, FeeTSET = |
Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 36496353258 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



ST AT (o] ST 2

|. eI ST Heea [Tt |
2. FETH: S T |
3. SETEEETE] Hd?-—if@wﬁfl
4. ¥ Tt s
Options :

1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 36496353259 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Tergr:” oo = forg mifauteery 2
1. fo=m

*

4. Tz
Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 36496353260 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TTTA T & T I ?

3
4.
Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 36496353261 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

“ATHTEAT S, U8 i 91: F9 T 2
. §T+7h
2. fe+w
S | < T
4. Ar+H
Options :
1.1
2.2
3.3

4.4

Question Id : 36496353253 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (121 to 128)

Question Label : Comprehension



T -

AT ST STTA AT Tegeq= 1 : Fars=afe 7=
oo T: 9 | Wﬁnﬂnﬁdmam Wﬂﬁé‘%ﬁ?@ﬁﬁﬁﬁﬁﬁ
“TEEll  FEECAIST T FATEN  AEEnRANG:| e
JEEERGN:  Towd:, TeAwsEyd 69T ad: THesST
ArTeama e | HaEdr egioRIEes I T
FAFAETET T e T, - C¥El gd Wahe:
TS RN TEa, 2 e TETa Y Taa] Fd e Thd 6t | Ihe

feremmT =T T |
T U R ae e Feread ||

TEERTE Tegra—ia: N8 — “3Tel WeArsied wear, FAmy
e Tae, T AT |

T TTAEHE AEASEAIST GO e He
TE T aeid | 6 I | S0 S|

3T TCHHTERUE 1= (ol el T T, - “37al! 7 g
afere At | 79: & arg-amny 9wt gtamtes  Eee:
5 g | AT S S e aa=2r At gegHerste v |

TEE T AR HAGHT = TN qeheiea” | 379 T8
2/ Fea SARTA AT Tegea=aty el 98 URee | o7
THIG AT T S eSS ST HTeN = T |8 aq o<l
Toreieemar g |

Sub questions

Question Number : 121 Question Id : 36496353254 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



r
R EINGIERIGE

3
4. FERTAST:

Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 36496353255 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

i, " ™. . . 3 ™ o« ™
TG T AT SRR T JIdHE A EE:JHH_\?

i urgm-—wﬁm
2. eI
. ST
4. ﬂm""%@q

Options :

LS ]

1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 36496353256 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



o B S
|. HeFSITEA: denlerHd "'Ir‘kﬁl'ig—%_%i“}‘-ﬂ"u
T WA Heea ATeqs U=eA |
3. F YT HATTH [3"!:?&-!“[
4. & TS Hr‘tﬂlj‘ﬂ'%%*—!\a?@i!

I3

Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 36496353257 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
ElEEECE Ba: =t et 0
|. ST, TEfaey |
2. TR, TR |

[ [
3. FATTIISETAT. Hr*‘;l:‘r‘-lﬁHLd.%Il

4. FANTATETET, FeeTSET = |
Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 36496353258 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



ST AT (o] ST 2

|. eI ST Heea [Tt |
2. FETH: S T |
3. SETEEETE] Hd?-—if@wﬁfl
4. ¥ Tt s
Options :

1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 36496353259 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Tergr:” oo = forg mifauteery 2
1. fo=m

*

4. Tz
Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 36496353260 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TTTA T & T I ?

3
4

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 36496353261 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

“ATHTEAT S, U8 i 91: F9 T 2
- Bl %h
2. e+
3. W
4. dT+7F
Options :
1.1
2.2
3.3

4.4
Sub-Section Number : 2
Sub-Section Id : 3649633078

Question Shuffling Allowed : Yes

Question Id : 36496353262 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No

Question Numbers : (129 to 135)



Question Label : Comprehension

0 -
ART FEATL FARE FGHET T Foo0:| T T THE
TarhaT=T Tt ST 1o e R e Hease S TaTe o
HE AAFSA ST U HT: Feall ST AT o e dd Foa: |
ST T=TAT AT ST T T I I |

qaedg @G Radt at Ferg: - <At el SeeTereaeT: Fee
T WA WIS saTgeresl A1 €s A | Tegea Hraia T
- ST | W T S ST STaded ST | T
SIS T SThe -

T AT FITeT ETSSeTIoRTE aT, AFaal = THasTera-re §f
3 T TS G Wi A AT FeehTE T Wied e
Tead TG | I, - ot o ve R W e e
e, A =q 99 FIBW U@l WSt | q9r g, T
FEEHE SURTeTATed  Hiowd, JETeAlha a3 ¥ URred q9T
o oot ST, - <R TR AT arereE
oI, U U | 3T AN RIATGTAIRUS HEaHIT 3T - <o |
%ﬁqﬁmﬁsﬁwaﬁ%uﬁﬁ U: QUSTT: Fag | ITAIST
ST — “HEaT TRaehHT 31 |

Sub questions

Question Number : 129 Question Id : 36496353263 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

frAfeigay Feapia o &: o7l 2
. W

HIHT:

4. FTEAI:

Options :

=3 =

L]

1.1



2.2
3.3
4.4

Question Number : 130 Question Id : 36496353264 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
|, EEeaE

!

3.
4. IFAFEditEa:
Options:
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 36496353265 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
1 WFEFI'{TFI'FFFF{ FHE&H@ 2ATHT |
2. awﬁa‘afm%m |

i :EEAIFN-I a{am'—r mdwln |

3
4. T ATaed TeATHIE Hohe T |
Options:
1.1
2.2
3.3
4.4



Question Number : 132 Question Id : 36496353266 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ty 9 GTﬁ:qﬁ:F-!'ﬂ‘ﬁﬁ?: T 7
1. 5=5:

]

4. FHATT:
Options:
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 36496353267 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Fr=fafaas = 7o e 2
SIEED \QE. RIS

(-
1. 39T =l qd

a [
2. 33U T=—a41d

. T I VS

3

4. M ARG
Options :
1.1
2.2

3.3
4.4

Question Number : 134 Question Id : 36496353268 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

ﬁuﬁdﬁ;%g “HTETE” TTee=T IS ?
1. e
TITTET

. Frosrem

= -

3
4. AT

I3

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 36496353269 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

i . [ .
RIE=Ts] 7:-'5{"‘-4!':"54 IﬁﬂﬂﬂH_\Iﬁ'ﬁHI{-ﬁ -

|. T + 91q + a1 Teha=g,

TH + 7 + <Y + TIAT Ueha="q
3. = + 7 + 20 + T U
4. T + T + eI

[~

Options :
1.1
2.2
3.3
4.4

Question Id : 36496353262 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (129 to 135)

Question Label : Comprehension



27 -

AR FHRATLT AR FeGHET T F=00:| T T T

TareheAr=t it eI e e e I 99
HE SRS NTES 0T HT: Feall SaHd STl T e 94 e |
1Y =T a1 FleH ﬂﬂ'%ﬂﬂﬂﬂ'\'ﬂ'{: I T-?'I%f:1"ﬁ‘SI":I"'I":IT'!:|
qaeag @y fadt @ Sog: - oot o SreTeREaeE: g
Tehe WA Wi samspered AT &1 awie | g e e
- oY | W T IR T Sfaded ST | aey
STl Sthe -
T AT = FESATRTE a, S-S = THASTeTa=Ty T
3 T AT Gra e W I ISR FeohTs T W e €
Tea L | g, - o ! ve i T e e
TTAed, A = a9 FBW U M | 9T S, Teod
FEEUT AAITeAA e Shioerq GEATAlRd @ & TRRed T
Frmr et SiaeEiteTTy:, - “oTe TR Rty afe
o, TTEa UTEE | 37 AT HIATGTHIRUE e TS - N |
%&qaﬁaﬁagﬁra@qmmﬁ%uﬁﬁ U @Ue: %‘HI@T‘PTS_GL
T — “HEaT RashEHAT 37 |

Sub questions

Question Number : 129 Question Id : 36496353263 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
ARG Fea e 57 %: HATE 2
IHT:

4. FTCHTAST:

Options :

R I

LS ]

1.1
2.2



3.3
4.4

Question Number : 130 Question Id : 36496353264 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TAY- eSO FUT 3 FaAra = 2
|, EEsT

!

3.
4. sATgreditear:
Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 36496353265 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ST 3 SR T STTE 2
. SAGTEHNE & M-I AT |
awﬁa‘afmﬁmﬁ |

:FEAIPhH SEPIE) mdwm |

Options :

[

N S

1.1
2.2
3.3
4.4



Question Number : 132 Question Id : 36496353266 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

f _ ~ =
SHAFATY {:* 3TH TIN oh: §HH: 7
i. g:ai

o

4. Eﬁﬁ"im
Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 36496353267 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

(S S oS 5,
I"IHIf"iHE!&'IE'I;E: A 3-13\1;;:: ?

(-
1. 3UM: EEUGIE

il s

2. U T=H=adid
3. H: I[h: WA

4 T=3H7 FAT=IA

b Y 9

Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 36496353268 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Freferfarry e e Fisd: 2
1. TreEm
HIFHHT

3
4. ST

I3

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 36496353269 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

: P o [ o S 0}
T=gdl 3cd =13 epHisd -

|. T + 91q + a1 Teha=g,

T - 7 + 7T + VYT UFE
3. T=Q + T + Y + TIHT TR
4. I + I + THAT FEI=T

I-J

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 3649633079

Question Shuffling Allowed : Yes

Question Number : 136 Question Id : 36496353270 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



ﬁm%%%g%awr%m—m FTT ?
|. Y FETE STUE] S ST fweaT |
2. Y uww,éaaﬁ-ﬂ SITT HETE 05 HTOT |

TSI AT S e fEeTear |

3
4. T e et sy wrtEey = |

Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 36496353270 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ﬁuﬁqﬁ;ag% HTHTISToR-SUSTHT Fead 2

. T GHETE SIaT SHEHee HISTET: e |
3, WTSTEERIT=RTS STy S WTeT- ey |
4. Wﬁéﬂ%f@ﬂ%mﬁ%&qﬂal

I3

Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 36496353271 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TST 71 —
|. TIERT TETHTIEhRT STST J3T: ﬂamtumﬁiﬁﬂ 1
Y .Y
2. =FTEIEEh! 9197 919 |

3. TITITarhT STST IAT: ST 37 |
4. ARTHTETET F TSHFTTE: |
Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 36496353271 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ST 7 —
|. TIERT TETHTIEERT STST J%3T: cr!‘-l!’-'ii‘:‘\UIH_\x?-l;-E-ﬂ 1
T . Y -
2. TITHIEER! 99T |14 |

o
™ * -
3. TITHTIIhT HTET I%AT: TR0l AT |

4. IARTHTETE F TEHTTE: |
Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 36496353272 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



[ .Y Y
T TR AT F T -
&

2 ET_E"?:ITEKTFGETEI_—I'
4. TSI
Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 36496353272 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

[ .Y Y
T TR AT F T -

l. EI?“TGT%E
2 a?ﬂwr%ﬁ'rﬁ‘—r
4. TSI
Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 36496353273 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



4R T AT SIS SO | 4T, e e AR S T |
WTSTIERTE 2 W 91 e )
| TS AT |
), VTRITERY FroTeTteam: |
4, TSI 8 FETRTATA: |
Options :
1.1
2.2
3.3

4.4

Question Number : 139 Question Id : 36496353273 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

F45 T: T SHTaTaT IO | AP0 S e SeTAa § e ST S|

WTRTITER 34 Wi 1 e ?
| T AT |
), VTGRS Framaa: |
3. TSN TS |
4, IO o FERTTATA: |

Options :

1.1

2.2

3.3

4.4

Question Number : 140 Question Id : 36496353274 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



HTYIT TE FeATaraT: s -
1. fererenr: BT wE S FAA |
2 Wﬂﬁﬂmﬂ?fﬁi
3. TTT: T STEATIST: SATHUIHY foferea i FAr |
4. DET: AIFTH HIEET: ST HET: T31et= |

Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 36496353274 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

HIIT 98 FepadmET: Taish -
1. Tevereer: o1 W€ 4 Fa |
2. Wﬂ‘ﬁﬂﬁrﬁmﬂﬁ%i
3. DT YT STEATIHRT: SATFOEHY fHferean w1 Fa= |
4. DET: AIFTH HEET: S HHT: T3Tet |

Options :
1.1
2.2
3.3
4.4

Question Number : 141 Question Id : 36496353275 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TrATeTRaT o STAT: WIETd WITHET: FE Far 2
1 HiHlﬁlaﬁ—i FTI]

-

T

[ a
. Ehldald]: SLUA

I3

3
4. IS EF{CER
Options :
1.1
2.2
3.3
4.4

Question Number : 141 Question Id : 36496353275 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

o S .00 S, OO, b Y W N L

M= ARG o BT WW:WW‘?
|. ITHTUTER ST

. FTETET

. FATET: TR

3
4. U EFICEE

I3

Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 36496353276 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



fer: ST SErTY T TS | T TS 1 e 2
Fe %?W%U‘H (skimming)
2. AT ST
3. TS U3
4. URETHH (scanning)

Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 36496353276 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ET% EECIC 1-11:4-11-:? OISR Llr_‘:lrl | TEET: U %EF%‘&H ?

ke %‘TFE'EEU'H (skimming)
2. AR U

3. TS EESL L

4. URETHUH (scanning)

Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 36496353277 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TG TST = SETHT: TEAT: T -
1. THfrasTeeE=

T STeRTaA]

I3

3. HiFg-ITeaTae]
Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 36496353277 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

G T = TR FTSAT: A -
1. THTeorasTearaet

TR =,
. T ITecldd]

[

3. HiFI-ITeRga]
Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 36496353278 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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|, TR S oy |
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3, TR, S 38T T 1999 WEvTary: JaTe: |
4, RIS WS HISCT HIe c\r\:&mﬂ'ﬂ|

]

Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 36496353278 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

i U 5 0 WY c L 3 I , ) ‘ .
RISIGICEL o TP STeATOTeR e (Cognitive Academic Language Proficiency- CALP) T
% -
|, AT 219 S|
o T [« TR 0 5 X

. OGSl T §r‘-l|i:-‘-l-|\1%i'ﬂ'3f A TEH TEH |

3, WA BT 98 Tea] Tavd Feiiaty: e |

il Y bl k!

Options :

-2

1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 36496353279 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



| TIFATIEId: BT oS oUM oa GerTeTea WTag I Fr |
. TRGTAITAT: WHTHT TS d: THaTed Seaa 39 Wt |
3. BT ST THAIE a: SeEe - STSTagaT: |
4. TIFATIETA: STFEERET ST Sy STawuT T BT FemTe T |
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Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 36496353279 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

G TTRITIG tj:—qtﬁtgﬂm EPRSIEH AT T4 T -
|. TIGFATIGA: DT eSO faa epTersa e Far i |

| g H‘ﬁﬁﬁ RIS d: T dm:mﬁﬁ% |

. DT AT TS : ST - AT AT ]

3
4. TTFATTEI: TG [ahTa SEaTy STaedT T DT, Faw, T |

Options :

(]

1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 36496353280 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



= e S e ~.
1. SHET: TSR EET JH=R. 431 |
Hitﬁaé@ﬂfﬂ Eﬂt{[{imi TFT TET: Eﬂfﬁlﬁgﬁ%|

I3

. O o r [
3, %ﬂwﬂmmgwt TSR == |
== + . = L
4. mmmu@,‘%m:ﬁ:dm TR BT =@ [ |

Options :
1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 36496353280 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T;Hﬁﬂﬁa‘ag% TSTTSTETOT SeaTaH - STETRE 19 37 -
|. DET: TGRS TR U3 |

aﬁgtgﬁaﬁ‘:i@ﬂfﬁ EJTHMLHE ﬁﬁqgﬁﬂm oHET: g‘qt\%‘a;ﬁ@vﬁ-%l

[

3. TemmoTT SRRTHET STeRaTEHTE e |
Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 36496353281 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TR STATTESY 13 2 T8 A0 ?

|. TSI Haeuu mgﬂgmmmimﬁ: |
TSI BT STTQUTHTHTAT: JETETOIAT SEHT: |
3. STERTT AT FEET: TSSO 39 |

4, TEHTIESEET ISTE0THT ST99%Y TI1: |

Options :

I3

1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 36496353281 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TR TSN [ U A0 A 2
|, TeTIET FIAEU0 quﬂg*:ﬂmiﬂfm: |
2. TV DT S ITYUTHTHTAT: ST S: |
3. ITERTT YT FEATET: TSSO 39 |

4. mw%ﬂwm;.wnﬂi alcﬂto-fi Hvu‘]u: |

Options :

1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 36496353282 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



. ek WTSTET: feATy: Hard |
ey AT 2Af=amaT 1 |
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Options :

1.1

2.2

3.3

4.4

Question Number : 148 Question Id : 36496353282 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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1. Y=ok 9T At watq |
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wg@amm%w
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Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 36496353283 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



WTSTAT: FTeTor ORerot 3 et 013 A e W8 ¥1e8: T | U % 1 e

TTeEAT: (cloze)
3. SATHT - TEE
4. TreFeaTaTa:

&

f-2

Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 36496353283 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T fEmeqor uftsTot o TSR IS AT T vE: Yea: cgw% | T T e
TEEAT: (cloze)

3. ST T
4, TRy

[

]

Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 36496353284 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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[ oY 57 i o
4. IHT=d FHROILIET |

I3

Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 36496353284 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4



